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QUESTION BOOKLET

This question paper contains 170 questions. /ST I IAH 170 TH & |
All questions are compulsory. / ft 337 31f4a/ & |
One question carries half mark only. / T I4 o T Shaet 3me 37k 2 |

Maximum Marks : 85 JATYhaT 3T : 85
Time : 2 Hours g : 2 g0
1.  Inscriptions have greater importance than literary works as sources of

history as they
(A) refer to ruling dynasties (B) provide dates
(C) record political events (D) mention public grants

3foraTd % 1d o &9 | Arfefcre oeai 6t e Sifieral w1 98d v §, ifh 3
(A) I G H TrEi-ad 8 @ |

(B) i@ JeH hd & | Big
(C) TSHeeh T3 i AfieiRad id 3 | cil

(D) G IEH T Jeoid Hid 2 |

The remarkable characteristic about the arrangement of the houses in the
Harappan cities is that they adopted

(A) grid system (B) cross roads

(C) angular system (D) circular roads

TS I oh T o SHAEUTHH o SR H fafere fomivan g foh sai= 1o /=0 o /of
(A) Brefeen (B) wETs (C) TR f&en (D) THer U
The most important functionary to assist the king in day-to-day

administration in the Rigvedic period was the
(A) Law officer (B) Tax collector (C) Purohit (D) Senani

FSIfeeh It H ¢feh TRTRH T TSI <hi TR ¢ o foTT Faifereh Hawayul STRrerl o
(A) fafu sfosrl (B) wEumes (C) Wi (D) &R

The Vedangas consist of the

(A) Kalpa, Siksha, Nirukta, Vyakarna, Chandas, Jyotisha

(B) Kalpa, Siksha, Brahmana, Vyakarna, Chandas, Jyotisha

(C) Kalpa, Siksha, Nirukta, Aranyaka, Chandas, Jyotisha
(D) None of these

e H St @

(A) ey, Trer, frea, s, B, Sy
(B) ey, f3ret, siTan, Smentun, e, Sfay
(C) weu, frem, freem, 3mwaes, B, SHifay

O whwmE
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5. Who was also known as ‘Kunika’ ?

(A) Prasenajit (B) Gautam Buddha
(C) Bimbisara (D) Ajatashatru
forg P’ 9 Wt ST ST 2 2

(A) J&ARTa (B) TdH g (C) fefremm (D) IASTaS

6.  The Jataks and the Dhammapada are found in which Nikaya of the Sutta Pitaka ?

(A) Digha Nikaya (B) Majjima Nikaya
(C) Samyutta Nikaya (D) Khuddaka Nikaya
ST 3R GHIITE T U< o Tohdl eI § U1 SITd & 2

(A) &= frpm (B) wiww fem

(C) &g Fepma (D) e T

7.  “It is not possible to record with accuracy the number of Mauryan cities on
account of their multiplicity.” Who gave this statement ?
(A) Megasthenes (B) Heliodoros
(C) Arrian (D) Justine
“Til JTEAl <ht T Wl Ieh! fafaerdr & 3UR W ygar % @y freifad s
TS 81 8 |7 I8 YA fohe feam 2
(A) W (B) BfoisRE (C) 3HfeH (D) A

8. Edicts of Ashoka refer to the Barabar hills as the

(A) Kharavatika Hills (B) Khalatika Hills
(C) Nagarjuna Hills (D) Priyadarshi Hills
3791 o HIAM § S TETSAT ol 39 €9 H Trgd hid &

(A) GRETCH! TgTeat (B) w@refifesht qaifeat
(C) AT werfeat (D) forreeft werfeat

9.  Dasakumara Charita was written by
(A) Dandin (B) Bharavi (C) Visakhadutta (D) Subandhu
cHHHR A fehem forar ?

(A) cfed (B) WRfd (C) fsm@ea (D) §54

10. In the Chola kingdom, what was the basic unit of exchange in the rural areas ?

(A) Paddy (B) Cowrie (C) Kakini (D) Gold coins
<t TrmTs | ety & o Tt 6t qe genrs @ oft 2
(A) gF (B) gl (C) hIfehH (D) %l ggr

O Ty Ty T T
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11.

12.

13.

14.

15.

With whose accession to the throne there began an era of strong, centralised
government ?

(A) Iltutmish (B) Balban

(C) Nasiruddin Mahmud (D) Mahmud of Ghazni

fopereh THRTEA T STRIET < T1e1 Ueh IfARITCAT, hrsiiehd HXehR < T <l TR 83T ?
(A) Sogaras (B) atsH

(C) THEEH HE g (D) WEWE Tt

Sloping walls (batter) was a striking feature of Tughlaq architecture. It was
absent in the buildings of

(A) Ghiyasuddin Tughlaq (B) Muhammad-bin Tughlaq

(C) Firoz Tughlaq (D) None of these

AT aTed (SeX) qIeteh Ireharl ol TuTell fommyar oft | saeht fopwmehl samal |
AV AT 7

(A) Trmge grees (B) HEPER-TSATTT B

(C) TRt girereh (D) T & s A&l )

The causes of the conflict between the Vijayanagar and Bahmani Kingdoms
were

(A) political and cultural (B) cultural and economic

(C) political, social and economic (D) political, cultural and economic

fIITR 3R SrgwH1 TTHT=al & = 999 & R0 o
(A) TSfaeh 3T HEhid® (B) HThice 3R 3R
(C) TSHfeen, AmTfors 3R 3% (D) TSiHfeh, Ashiaeh 3R 3T

Which Deccani sultan had the title of ‘Abla Baba’ or ‘Friend of the poor’ ?

(A) Al Adil Shah (B) Bahman Shah

(C) Ibrahim Qutb Shah (D) Ibrahim Adil Shah-II

for eférft goram i 3t <sraem e = e o1 i off 2

(A) Il 3TTC =g (B) wgHA W8

(C) ™ $as w8 (D) FoTEM Ife =g — 11

The trinity of Bhakti movement in north India refers to

(A) Nanak, Kabir, Ravidas (B) Nanak, Mira, Ravidas

(©) Mira’, Kabir, Nanak (D) None of these

I 9RA | 9fea 3TTeier o B § Twefvid 3

(A) T, B, Fagm (B) e, Wi, g™

(C) ©HI, Sel, A (D) 9 9 [ T8
G
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16. Aurangzeb’s Deccan policy did not result in
(1) Financial crisis for the empire
(2) Improved agrarian system
(3) Terrible loss of men
(4) Demoralisation of troops
Select your answer using the codes given below :

(A) (1)and (2) (B) (2)only (C) (3)and (4) (D) None of these
3T i gferor Hifa uftomfira T g5 -

(1) == o foxfia gepe

(2) Y JorTed! skl 3T

(3) &l hl wr B

(4) BT 1 Afce Taq

=t feu 77T 3he T AT hd T 319 IAL T = HIT :

(A) (DIR2) (B) FI@(2) () (3)3AR(@4) (D) FHH KT

17. When Robert Clive reached Madras in 1744, he took a job as a
(A) writer (B) trader
(C) revenue assessor (D) soldier
1744 H I9 e FATSd T5TE Ugal, 3H I Hi fohan ?

(A) T@H (B) =M (C) T fautes (D) dfes

18. Debendranath Tagore started

(A) Dharam Sabha (B) Prarthana Samaj
(C) Arya Samaj (D) Tattvabodhini Sabha
SEATY 3R A & o /fema

(A) & | (B) WITHAN (C) IFEAN (D) S G

19. Which was the first place captured by the Wahabis in the holy war against
the Sikhs ?

(A) Attock (B) Lahore (C) Peshawar (D) Amritsar
T = foeg o I # FETieri 4 T8 gl fohdl T W AR femarm 2

(A) 5 (B) WmER (C) U=IeR (D) IHAE
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20.

21.

22.

23.

24.

After the pact between Mahatma Gandhi and Lord Irwin in March 1931,
many leaders became critical of Gandhiji’s leadership. What was the main
reason ?

(A) The militants gained importance.

(B) The rural masses were not to be included.

(C) The Satyagraha policy was becoming stagnant.

(D) The Civil Disobedience Movement was called off.

T 1931 T HETeHT e 3T i e o s ueiid o 91¢, 3 a1 Mefs &
Aqcel o HTeAT=h 81 7T & | $EehT & ST T T 2

(A) ST ! HEwd IfTd 53T |

(B) TTHIOT AARTI <l ST &l fehaT 7T o | ]

(C) Temrg Hifd frest 8178 | e

(D) Tfeam= 3Tas Tgrer wfira foram mam |

The crust of the earth is composed of

(A) Silica and Aluminium (B) Silica and Magnesium
(C) Nickel and Ferrium (D) Nickel and Aluminium
gealt i it geeh! o Bl @

(A) Taferen 3t vegfafT=m (B) Taferest 3t tfifsem
(C) Tieret 3R Hiem (D) fieeT 3R Tegfif=m

Which of the following forms of igneous rock constitutes the greatest body ?
(A) Phacolith  (B) Lapolith (C) Laccolith (D) Batholith
AT T ol 1 H | S 91 §9 foemet fyvg samar g 2

(A) Hhifay (B) wuifay (C) Aehifery (D) sUifery

The depression formed at the mouth of a volcanic vent is called a

(A) crater (B) caldera (C) volcanic sink (D) geyser cone

SaTeTgE! gR % 4@ 1 ffid 7d wgerdr 8

(A) (B) wHTeeq (C) SaTmElt i (D) e S

Secondary earthquake waves can pass through

(A) solid materials (B) liquid materials

(C) semi-solid materials (D) All of these

faeitareh e AT TSR Hehdl! &

(A) 3 et & (B) S uqi ¥

(C) -39 ugredi & (D) ot
e e
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25. Inversion of temperature is
(A) increase of temperature with elevation
(B) decrease of temperature with elevation
(C) uniform temperature
(D) decrease of temperature with latitude

I 1 FHAY &
(A) 4TS % 919 a9H | gig (B) ST & |1 dT9HH § HHt
(C) THTUT qTIHH (D) 3TEITS & |1 ATIH H HHY

26. Horse latitude is characterised by
(A) strong cyclones and low pressure (B) calm conditions and low pressure
(C) calm conditions and high pressure (D) None of these

1T 37T T 3E8 Tererefieha fopam i 2
(A) g Tshara 3R = ge (B) I 3remd 3R 1 gra
(C) T 3TELATT 3TR 3= g9 (D) T ° His T&l
27.  Which of the following clouds make a halo around the sun and the moon ?
(A) Cirro stratus clouds (B) Cirrus clouds
(C) Cirro cumulus clouds (D) None of these

71 5 8 ®F 8 79 g 3R S50 o IR SR THTHEA ST & 2
(A) TaTUER TE (B) eIy HY (C) HUt AT (D) 8 O His A&l

28. How much area of the oceans is covered by the continental shelves ?
(A) 7.5percent (B) 15percent (C) 22.5percent (D) 29.5 percent

HETETT o1 TehaT &1 HETE YT 3udel g 3TEid & 2
(A) 7.59fae@ (B) 159faed (C) 22.59faed (D) 29.5 Ufaerd

29. Which of the following ocean currents is a part of The Gulf stream ?
(A) Florida current (B) Labrador current
(C) North Pacific Drift (D) Canary current
71 5 @ o € HEETEE 9 e 91 T HE R 2

(A) FARETIW  (B) WSERERT  (C) I J=1=d €10 (D) hTdt 91

CodeNe T Csi Sy g
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30.

31.

32.

33.

34.

What is Eutrophication ?
(A) Cutting of trees on a large scale
(B) Excessive accumulation of salt content in the soil

(C) Phenomenal growth of few plants in nutrient rich water of lakes or ponds
(D) All of these

T TR 2

(A) &2 I T et i Herg

(B) Tirdh o tavn 3791 1 Ircfies T=

(C) ST 3@ ATCATS o UINUT G ST H e UIGUI ohl STETINY dig

(D) =g @t !E%gj
[m]7e2

Maoris are the indigenous inhabitants of which country ?
(A) China (B) Australia (C) Germany (D) New Zealand

IS fopd 21 o e fameEt 8 2
(A) == (B) Iggfern  (C) W (D) leivs

Which is the basic factor for dividing the world into major natural regions ?

(A) Vegetation (B) Climate (C) Soils (D) Habitation
forear =t yg@ et &t fawnfora s o fofe gt Re I 2 2

(A) aTEfd (B) SietETy (C) fedt (D) TemE-wIH
The largest city of Switzerland is

(A) Bern (B) Zurich (C) Geneva (D) Lausanne
fEITSeivg o1 TeH §ST & 8

(A) (B) wifrE (C) far (D) @

The Shillong plateau has been separated from the main block of the Indian
Plateau by a wide stretch of the alluvial lowland called the

(A) Burhanpur Gap (B) Garo-Rajmahal Gap

(C) Hazaribagh Plateau (D) Rajmahal Hills

Sle Ty <l =Sl fadm grRI AR Y8R o J&7 WUe § I 18R 9o &

@2, S AT 3

(A) FEMR (B) THI-Trowee feret
(C) BIRIET 43R (D) TSHES UgIieat
]
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35. Beyond Farakka, the main stream of the Ganga flows into Bangladesh by
which name ?

(A) Bhagirathi (B) Meghna (C) Son (D) Padma
HUFRT o W, T Shl J&T URT SieATes | ford 8 & 55t 8 2
(A) wrfeef (B) TEAT (C) 49H (D) UeHl

36. Which of the following places in Rajasthan is likely to have the highest
temperature on a day in June ?

(A) Barmer (B) Jaipur (C) Bhilwara (D) Udaipur
TSTE o T 1 @ form T 8 53 o e i Igam qromm s grre gt § 2
(A) STEW (B) ST (C) e (D) 33X

37. Which soil is rich in iron and aluminium compounds ?
(A) Laterite soil (B) Blacksoil (C) Yellowsoil (D) Alluvial soil

i H 7aT ARRA 3R Tegiem Aifirent 8 T9g 8idi & ?
(A) AT (B) Frefigm  (C) defiger (D) g A

38. Zawar mines are famous for

(A) lead and zinc (B) mica and bauxite
(C) iron and copper (D) sulphur and gypsum
SR @e 39 fou ufag @

(A) T 3R & (B) WIS TR STeraTSe
(C) T 3R e (D) TRt 3R foreem

39. Which of the following projects comprises the Gandhi Sagar dam, The
Jawahar Sagar dam and the Rana Pratap Sagar dam ?
(A) Chambal project (B) Damodar Valley project
(C) Rihand project (D) Machkund project
= 4 9 forg wiw@sT 8 it grR STy, SeTet IR 19 3T 0T J99 GO 91
MHA & ?
(A) = YRS (B) gmHIe =Tt ufEsHT
(C) T afensm (D) TEHUE TSI

40. The leading producer of coffee in India is
(A) Karnataka (B) Maharashtra (C) Gujarat (D) Uttar Pradesh
WTLd | Shith! o ST IATGH &
(A) Fieh (B) Wiy (C) T (D) ITW I
P e
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41.

42.

43.

44.

45.

The original Constitution of India is preserved in
(A) Archeological Survey of India (B) President House
(C) Prime Minister House (D) Parliament House

RN Hferer shY 9er-a Tferd 8
(A) YRA T QAT Gaieqor § (B) Uydfd waq
(C) JuTEt o o (D) GO Y9aTH

The words ‘Socialist’ and ‘Secular’ were added to the Preamble of Indian
Constitution by which amendment ?

WA T | shl Sre1 | HHrSiene)” 3TN aH-fer sreqi =l forer w=ie gra
EISREIRIN
(A) 17 B) 7 (C) 427 (D) 44t

No person shall be a citizen of India if he has
(A) Voluntarily acquired citizenship of another country

(B) Accepted employment in another country 9@%@3
(C) Been convicted by a foreign court of law (el

(D) Lived in a foreign country for more than five years

g Saferd WA Sl ANTIEh A&l BIT ATC I8

(A) TS Y 31T < 6T TATHEhAT 3T LT B |
(B) 31 < T USTIR T TehR hdT 2 |

(C) Tereht feresft =mermer™ g srhirnfia fpem man 2 |
(D) di= ot & 3feres & fou feem A w @ & |

Which of the following writs is sought to get an order of an authority quashed ?

(A) Habeas Corpus (B) Mandamus

(C) Certiorari (D) Quo Warranto

71 4 9 I € @UeH WTTehtuT 1 JTEE ST i b1 T i & ?
(A) =41 JeagfieRt (B) TTHTCH

(C) SeIuI-oiE (D) FFR-g=1

Which Article of Indian Constitution ensures that Directive Principles of
State Policy cannot be enforced by any court ?

(A) Article33 (B) Article37 (C) Article4l (D) Article 51-A
I 9™ 1 A 91 37 gHiTad il & b Tsa o Hifd Fewes fgrmai

! ToRet =ITITeTs gRT AR A& foha ST Hehall 2

(A) 3T=BE33  (B) Ig=we37 (C) 3 =we4l (D) 3Ig=9e 51-A

11 ~ Code No. : C-654/2020/Series-A
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46. The Council of Ministers are collectively responsible to the
(A) President (B) Parliament (C) Lok Sabha (D) Rajya Sabha
Tt uftwg wmfEs w9 9 s i STRerfi el 8 7
(A) Tgald (B) &&g (C) dshgdr (D) TS &
47. What is the minimum age to become the Prime Minster of India if he or she
is a member of Rajya Sabha ?
YR T TR S oh ToTq =[TaH 311 foheT & ATE 98 T A1 61 Th 9 & 2
(A) 25 (B) 30 (C) 35 (D) 45
48. How many members of the State Legislative Council are elected by the
Assembly ?
(A) 1/2 of the members (B) 1/3 of the members
(C) 1/4 of the members (D) 1/12 of the members
Ty faam uftvg o foha Tee fagm e gru g STd 8 2
(A) GEH11/2 (B) T 1 1/3 (C) TSI 1/4 (D) Te&di 1 1/12
49. The Supreme Court is empowered to settle election disputes of President
and Vice President. This is its
(A) Miscellaneous Jurisdiction (B) Advisory Jurisdiction
(C) Appellate Jurisdiction (D) Original Jurisdiction
e =TT Tgafd 3R 3U-TFAfd o g7 foare) sl fuer o T3 § | 18 § SHeh
(A) Tafay ganfer (B) HATEHRI SATRIHR
(C) 3rfichia SR (D) TS &ATHR
50. Which of the following is administrative functions(s) of a village panchayat ?
(A) Maintenance of Road
(B) Providing sanitation and drainage
(C) Providing burial and cremation grounds
(D) All of these
= 1 9 1 91/9 U 9= /< S9E e B 2 /3 2
(A) HSehi ol EEE
(B) T=dl 3T et~ Tehtd YgH T
(C) hsATE TR IHAM Y7 TEH BT
(D) I8 a+t
g NG T Cem A ey
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51.

52.

53.

54.

5S.

During an emergency all of the following fundamental rights are suspended, except :
(A) Freedom of assembly without arms

(B) Freedom of speech and expression

(C) Freedom of association

(D) Personal liberty

FTITARIA o G T T+t 7 S1fersr feafesa &1 9 2, fam

(A) STE o formT @ 1 & Wa=ar  (B) 9T 3R SAfvreafaa <t wd=rar

(C) aTg=d &6l W=l (D) SAfaeh T

Planning Commission of India was

(A) A Constitutional body (B) An Executive body

(C) A Statutory body (D) None of these

YT BT ATSHT TR o7 Ueh

(A) Gt e (B) HEIwRI fepr Sy
(C) wfates frem (D) 8 ¥ His T&l

Union Constitution Committee appointed by the constituent assembly was
headed by

(A) Sardar Patel (B) Jawaharlal Nehru
(C) Dr. B.R. Ambedkar (D) Dr. Rajendra Prasad
Glaa™ a1 g e g9 afaam afifd & e o

(A) TER U (B) AT HEE

(C) . .3, g (D) . Tsig J4Tg

Which Act formed the basis or ‘blue print’ of the Indian Constitution ?
(A) Government of India Act, 1909 (B) Government of India Act, 1919
(C) Government of India Act, 1935 (D) None of these

form affem = e |faym < smyr steEn o e’ @ fmir foear 2

(A) 9T TR rfafEm, 1909 (B) WRd TR Aff=m, 1919
(C) WRd TR rfafrm, 1935 (D) T ¥ I A&

Which part of the Indian Constitution deals with Union Territories ?
(A) Part-VI (B) Part-VII (C) Part-VIII (D) None of these
TR HGH™ 1 S A1 WIT §9 TSI&E] § Tri-d g 2

(A) ¥T-VI (B) Wm-VII (C) 9F-VIII (D) 379 & I3 T8l

13 ~ Code No. : C-654/2020/Series-A
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56. States Reorganisation Act was enacted in which year ?

T gfeA Stfufem forg ot o arffrfia gam 2

(A) 1952 (B) 1956 (C) 1960 (D) 1966
57. The first woman President of India was
(A) Pratibha Patil (B) Vijayalaxmi Pandit
(C) Leela Seth (D) None of these
R sh! IUH Hige Tgatd ot
(A) Tfawr arfes (B) Tosmrete ufvsa
(C) i as (D) 378 § IS TE
58. The only Prime Minister of India who died abroad during an official tour was
(A) Jawaharlal Nehru (B) Gulzari Lal Nanda
(C) Morarji Desai (D) None of these
WIRA o TohHTA TR Fehl IMTHehd R o G forewr & gcg g3 ot
(A) TATETATA I8% (B) TETSIRI ATA g
(C) WIS <@ (D) 7 & s e
59. The number of Rajya Sabha seats in Sikkim is
(A) One (B) Two (C) Three (D) Four
fafepn o T e et 6 Ten B
(A) T (B) (C) (D) =R

60. Who administers the oath to The Governor ?
(A) President
(B) Chief Justice of India
(C) Chief Justice of the concerned state High Court
(D) Speaker of the concerned state legislative assembly

TSIITA ol IS 1 I9Y i fectamar g 2

(A) Tgdfd

(B) YR = &I =ARTefs

(C) TEf~a T 6l 3= AT o G&F <[rnedisn
(D) rafra T 6t faema & wfiet
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61.

62.

63.

64.

6S.

While laying railway tracks, gaps have to be left between successive lengths
of rails to allow for

(A) Contraction during the summer (B) Expansion during the summer
(C) Increase in friction (D) None of these

d gl s & R 38 foTu gefal 61 S1ad! ol o e STaud el
GFI'dT%:

(A) T % S Hped (B) T % SR ferdr
(C) = dafy (D) T8 & I3 T

A body moving in a medium with a speed greater than the speed of sound in
the medium is said to be

(A) Infrasonic (B) Ultrasonic (C) Supersonic (D) None of these
Toreft w1 o el <6t TTfa | 3R i & Tetan gaT fuvs e &

(A) FHEIRS  (B) 3feg@Ns  (C) guEs (D) 98 & &g Tl

A man standing in front of a special mirror finds his image having a very
small head, a fat body and legs of normal size. What are the shapes of the
parts of the mirror respectively ?

(A) plane, convex, concave (B) concave, convex, plane
(C) convex, concave, plane (D) None of these

U forery gdur % e et SAfea 3 B¢ R, Tet S 3R A= STehR o W
1T 3791 Tferferea ITaT @ | 90T o VT oh 3TTehTL ShHST: T & 2

(A) GHdA, 3ddT, HAdd (B) 3Adddt, 3dc1, GHAA
(C) 3IaqeA, AddeA, THAA (D) 78 O His A&l
[m]e =]
B

Washing soda behaves in water as
(A) Alkaline (B) Acidic (C) Neutral (D) None of these
IR ST TA H 3Heh! g FIgR Hdl @

(A) &TH (B) < (C) e (D) 8 &g TEl

Which is a synthetic polymer ?

(A) Cotton (B) Starch (C) Glycogen (D) None of these

HH T YA gt (fafes uifermy) 2 2

(A) Hied (B) ®H (C) ™RE&SH (D) T8 9 s T8l
e
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66. Before its distribution in big cities, the milk 1s generally subjected to

(A) Homogenisation (B) Pasteurisation
(C) Ion-exchange treatment (D) All of these
= ¢ HHTAC: gHh 3
TS IR H 3Heh oIl o 6 g o 3T B 2
(A) HHTTRTO (B) ar&q{ishton
(C) ArRA-fafma IT=R (D) g ad
67. The fruits of Banyan, Pipal and Mulberry are mainly dispersed by
(A) Wind (B) Water
(C) Animals (D) Explosive mechanism
FOTE, YiueT 37 T8 o Bl 59 g Jehifiid &id &
(A) & (B) S
(C) oft (D) ferepiess teht
68. ‘Sulphur shower’ which may give rise to an epidemic of hay-fever is a form of
(A) Sulphur dioxide (B) Carbon monoxide
(C) Pollen-laden air (D) Nitrogen dioxide
Gt AL, ST WS- sh! TR bl 96T HehdT &, SHhT ¥ 8
(A) ToHL SE-3FES (B) hTeA WIS
(C) RT-wTd oY (D) TSN S3-JTETEE
69. Butter is a good source of which vitamin ?
(A) Vitamin A (B) Vitamin C
(C) Both (A) and (B) (D) None of these
Herg Topd fareTii =1 sT=s1 |id & 2
(A) faefim A (B) faerfim C
(C) (A) 3 (B)aH (D) T & HIE TE
70. Pace-maker is related to
(A) Heart (B) Lung (C) Liver (D) Kidney
TR foped TrafRa g 7
(A) & (B) %3 (C) =Fd (D)

71. The Kothari Commission’s report was entitled as
(A) Education and National Development
(B) Education and Social Change in democracy
(C) Diversification of Education
(D) Learning without Burden

IS IR 1 FGie w1 3fies B

(A) e 3R U foepma (B) T31amm 3R SArehe=1 § @1 UiErcq

(C) Trem = ferferferenton (D) e o for arferm
T
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72.

73.

74.

7S.

76.

The teaching technique must seek to utilise the social forces operative in
social life in order to develop capacity for

(A) social problems (B) social adjustment

(C) social attitude (D) social behaviour

Toregor qhHieR 1 % o0 e foepfia & & o9 H gmIve St |
Y=Ifeld GTHTISTeh Sl o YA Sl Y hiAT I11RT |

(A) amTRTe guest (B) WIS GHTAISH

(C) |mI R (D) FMHINS AR

“There cannot be educated people without educated women”, this was
indicated by the

(A) University Education Commission (1948-49)

(B) United Nations Declaration on the elimination of discrimination against
women e

(C) New Policy on Education (1986) B

(D) None of these

“Tarfara wfgemai = fom frfera o €t 81 whd 17 918 Terwreh g0 gl fopen mm ¢

(A) Tereafesmers fret TR (1948-49)

(B) wfgenati o foreg WewTd o SVIeH T T U <hl SgaoT

(C) farem w7 +fifa (1986)

(D) T8 & HIE T

Creativity increases with

(A) age (B) experience (C) education (D) practice
TSHTCTRAT 5%k |1 SEd &

(A) 311 (B) I9a (C) Tem (D) ™
Triarchic Theory of Intelligence is proposed by

(A) Sternberg (B) Thorndike

(C) Stanford Binet (D) Guilford

i 1 ergantdes fagra ferem wearfaa femam 2

(A) T (B) UHSEH (C) wwEfam (D) frewrE

Programmed learning is based on

(A) field theory (B) operant conditioning

(C) classical conditioning (D) None of these

rfiyshitra 3rfermm 39 W ST 7

(A) & fagr (B) Hfsha STgeT

(C) Se 3TgReH (D) S I3 &l
B e T ST Y e
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77. The National Institute at Hyderabad is related with

(A) Hearing Handicap (B) Mentally Handicap
(C) Visually Handicap (D) Orthographically Handicap
2etETe § U HEIH fohud grafRe 2 7
(A) S99 FEIH (B) T 3m@aH
(C) T2 IrEe™ (D) ATHTihe STe™
78. Which is not a physical determinants of personality ?
(A) Homeostatis (B) Physical attractiveness
(C) Gender (D) Body builds
I T Teh SAferied hl i Frafes 72 8 2
(A) FEEIIA (B) ITHifeh SATehSehd
(C) Totm (D) <8 sATEe

79. Human behaviour is determined primarily by
(A) an objective reality
(B) the phenomenal field including the phenomenal self
(C) social pressures
(D) physiological needs
TG FER M1fieh &9 9 foheeh g fuff@ g g ?

(A) Taer areqfershar (B) Wfaquiyes & dfed Sfauiyes &
(C) HMmTeh o (D) wIifeh STrevshanadi

80. Which is the apex body in the area of Teacher Education in India ?
WA § freres f7e0 o6 &3 6 o |1 Hai (e g 2
(A) UGC (B) MHRD (C) NCTE (D) NCERT

81. Himachal Pradesh lies between
(A) 30°22'to 33°12' North latitude and 75°47' to 79°4' East longitude
(B) 27°29'to 30°22' North latitude and 72°42' to 76°5' East longitude
(C) 25°29'to 28°22' North latitude and 73°49' to 77.5' East longitude
(D) None of these
fa.u. 3o off= a2
(A) 30°22' ¥ 33°12' 3Tl T 3R 75°47" | 79°4' T <M=
(B) 27°29'¥ 30°22' 3T ST&ITM 3T 72°42' § 76°5 T <M=
(C) 25°29'¥ 28°22' ITdl &A™ 3R 73°49' § 77.5' il GRIT=
(D) T8 & HIE T

Code N T Csin Sy T
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82.

83.

84.

8S.

86.

87.

88.

Himachal Pradesh became the part ‘C’ state in which year ?
(A) 1948 (B) 1950 (C) 1956 (D) None of these
fewmerel wewt form e # 9Té <C” TS w2

(A) 1948 (B) 1950 (C) 19356 (D) T ¥ IS &
Chanderkup lake is located in which district of Himachal Pradesh ?

(A) Shimla (B) Lahaul-Spiti (C) Kinnaur (D) Chamba
Tetpy Hidt f8. 9. o fopa et & fua 8 2

(A) TRren (B) WRE-&fifd (C) Fr=iR (D) =w

Markanda river flows in which district of Himachal Pradesh ?

(A) Una (B) Kullu (C) Sirmour (D) Solan
TRehve ¢ f. 7. % form oot & st 8 2

(A) S (B) ol (C) fauiR (D) |ieH
Mukkila glacier is situated in which valley of Himachal Pradesh ?
(A) Bhaga Valley (B) Chandra Valley -
(C) Kiarda Dun Valley (D) Kullu Valley s

gfeaer feue fg.u. <t fepa amd o feora 3 2
(A) wrmeErdt  (B) =S=ErRl  (C) FRam@gmert (D) weelHEd
Bhunda festival is connected with which of the following ?

(A) Jamdagini (B) Parshuram (C) Renuka (D) None of these
UeT 3cd 1 # 9 fopes awaifea 8 2

(A) SHGIRHT  (B) WA (C) ! (D) T 8 s &

The idea of Nalwari fair of Bilaspur was conceived by which of the
following ?

(A) Anand Chand (B) Dr. Y.S. Parmar

(C) W. Goldstein (D) Lord Amherst
fTTqX o TeTa! 3cda o1 o fe & fopeeh gTr srehe femarm T o 2
(A) A=< =T< (B) €. 9M¥.TH. WHR

(C) T, TMeeH (D) IS THER

Baijnath in earlier times was known as
(A) Kehloor (B) Pujarili (C) Brahmpur (D) None of these
SIS ol TRIFeh ShTcl H 394 ST SITaT o

(A) e (B) TuITet (C) s&I (D) T 8 IS TEl
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89. Who found the new township of Mandi ?
(A) VijaySen (B) AbhaySen (C) Ayber Sen (D) None of these
HUET o T T hl TATIHT fehe i 2
(A) TosEa (B) 31wIEH (C) FFEH (D) $HH P58l

90. Mangu, a famous painter belonged to which district of Himachal Pradesh ?

(A) Mandi (B) Kullu (C) Kangra (D) Chamba
HI], Teh Ufeg Foer f2.9. & fopm o1 & awafa 8 2
(A) WSt (B) el (C) T (D) =T
91. Himachal Pradesh State Commission for women was constituted in which
year ?
femmaat vew TS Aigan 3 fohe o o wfed gaT ?
(A) 1992 (B) 1994 (C) 1996 (D) 1998
92. Nirmand copper plate issued during which century ?
e am wie form srared) % Se S <6 T 2
(A) 7™ (B) 110 (C) 14% (D) 17t

93. Firoz Shah Tughlaq besieged the fort of Kangra in 1365 A.D. during the
reign of which ruler of Kangra ?
(A) Ghamand Chand (B) Sansar Chand
(C) Parava Chand (D) Rup Chand
HITST o fohd IHH o IMEFHTE o GIH 1365 3. H TS 318 TTeTeh = HiTST &

opet <1 BT BTetT 2
(A) HHEE=< (B) TERE< (C) UeE=< (D) &9

94. The battle of Nadaun was fought between Raja Bhim Chand of Kahlur and
which of the following in late 17" century ?

(A) Gurkhas ~ (B) Sikhs (C) British (D) Mughals
TR 17201 SrTea) § AIGH ol JG e oh TSl HiHa= 3R 7 1 9 fohrieh S g3 2
(A) TTEn (B) Towa (C) S (D) A

95. The Panchayati Raj Training Institute is located at which place in Himachal
Pradesh ?
(A) Jogindernagar (B) Mashobra
(C) Dharamshala (D) Manali

YT TS TRTeTor S 2.0, d fopm e e fa 2 2
(A) JfET (B) m?ﬁarr (C) YusTTeT (D) HATAT

CodoNe - Cotsin0Serioen T S ——
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96.

97.

98.

99.

100.

101.

Total number of National Parks in Himachal Pradesh is

.9, o uia Sl i o T@n @
(A) 2 B) 3 (C) 4 D) 5

Himachal Pradesh Agro-Industries Corporation Ltd. was set up in which year ?
TerT=e Te SV -ITRT W feAfies i Tomen fopg a9 4 g3 off 2
(A) 1970 (B) 1971 (C) 1976 (D) 1981

If the first half of the English alphabet is written in reverse order, which
would be the 9™ letter from the left of 9™ letter from your right ?

Ife 7S SUHTAT 1 T2H 37 I sHH | forat Srar @ a1 379 €& ¥ 99 378
ST T 99T 3T I 9T BT ? i
(A) F (B) 1 (C) D B2 D) E

If the first and second letters of the word, ‘COMPENSATION’ are
interchanged, also the third and fourth letters, and so on, then which would
be the fourth letter from the right ?

(A) S (B) N O T (D) None of these
F¢ 718G ‘COMPENSATION’ % gt 3R @l 318 ! 99 H Sgell Sl 8,
T 3 N 31 w1 oft, 3TN gE a8 3T, A S O U7 JRW I G ?

(A) S (B) N © T (D) T 8 &g Tel

If orange is called ghee, ghee is called soap, soap is called ink, ink is called
honey and honey is called orange, then which one of the following is used
for cloth washing ?

(A) honey (B) ghee (C) orange (D) ink

Ife 3RS 1 = HEd &, =t ! TG Hed 7, TG I WTE] had &, TE! Bl T8e
Ed 8, TN &G I 3TN Had &, d1 HUS " H = H G Toheeht T a1 8 ?

(A) &g (B) = (C) RS (D) @

In the following number series how many 9’s are which are preceded by 3
but not followed by 4 ?
2395139673948934932398393
e Ee sTae | fohd 9 2 sh T8l 38, Al S H 4 TR & 2
2395139673948934932398393

(A) 3 B) 4 ©) 5 (D) 6
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102. There are 32 steps in a temple. In the same time Amit comes down two
steps, Sumit goes up one step. If they start simultaneously and keep their
speeds uniform, then at which step from the bottom will they meet ?

T Al 1 32 Wifeat § | W w1 3ifi @ € 3awan 2, gita w Hiel 9@
2 1 3fe 3 T Ty I[® L & IR 70 i aue w@d §, 9 = 9 e @fidt ma
fored 2

(A) 9t /9dt (B) 10%/10df  (C) 11™/11di (D) 12%/124

103. Vikram is taller than Rajan, but shorter than Anie. Jamal is talled than Anie.
Sita is taller than Vikram. Rajan is shorter than Sita. Who is the shortest ?
(A) Rajan (B) Sita
(C) Vikram (D) Cannot be determined
o O forshn ovan 2, dfers U @ Amer 8 | U § e o @ | sk @ i
A g | HAT H U AT g | 998 AR A | 2
(A) TSH (B) it
(C) ferspm (D) Taeifca 72t foran 51 T |

104. The Cabinet Committee on Economic Affairs (CCEA) recently approved
T 1,340 crore recapitalisation for which category of banks ?

(A) Co-operative Banks (B) Public Sector Banks

(C) Regional Rural Banks (D) Payment Banks

3t Ui W hfeme & (CCEA) 74 Bt & 8 fohm ol o1 Sl & fotw
% 1,340 U o TAYSIIRTUT i STATT &1 & 2

(A) TEHRI S (B) Tosft &= shi

(C) &fty Tt sfehi (D) T siehi

105. What was the name of the Central Government’s economic package for the
poor to fight the corono virus pandemic and lock-down ?
(A) Prime Minister Gareeb Kalyan Scheme
(B) Prime Minister Anandata Scheme
(C) Prime Minister Gareeb Suraksha Scheme
(D) None of these
HITAT IRE 3TN ATh-8I37 T e & U el o fAU g TR & AT

UehsT ohT RIT TH T 2
(A) ToFE T ST A (B) S ST=Terdr AT
(C) e T GRat AT (D) T ¥ IS &
o T e

https://snowstudy.in



106. An important personality in Ambedkar’s historic conversion to Buddhism
passed away recently. What is his name ?

(A) Santu Mukherjee (B) Sadanand Fulzele

(C) H.R. Bhardwa;j (D) Potturi Venkateswar

ITFEIEHL o dig °gH W UfaTieeh T & Hew@qul sAfadcd 1 &1t &l H e
BT | IThT ATH 7 T 2

(A) §qg@si (B) HEH= Hoisiel
(C) TH.IX. g (D) Tl deheva

107. What is the venue of the main national event for the sixth International Day
of Yoga, 2020 ?
(A) Leh (B) Nagpur (C) Coimbatore (D) Imphal
Tg FAAUFR A0 fead, 2020 % foTT T TEH 392 1 3RS WA S A1 8 2
(A) T (B) AT (C) ®ERE (D) T

108. Patil Puttappa, who recently passed away, was associated with which field ?
(A) Sports (B) Journalism (C) Business (D) Research
urfee geew, feht g1at & 1 e gam, forg &= @ gt 9 2

(A) ©dhe (B) U=eTHal (C) =™ (D) 3EY™

109. ‘Pragyan Conclave 2020’ was an International Seminar organised by which
Armed Forces of India ?

(A) Indian Army (B) Indian Navy %%E'If—_

(C) Indian Coast Guard (D) Indian Air Force

Y Siaete 2020° TRd o T T8 Sl gRI ARG ST=ig SftFm o1 2
(A) VTR BT (B) R 8T

(C) YR e 1&Teh (D) W 91 BT

110. Which country recently become the first in the world to make public
transport free ?

(A) Italy (B) USA (C) Spain (D) Luxembourg

19 |1 < ATt URag sl -3 s aret foga o1 guw <91 51 2

(A) seett (B) J.UH.TU. (C) == (D) AT
e Y P T I T T o
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111. The long term assets that have no physical existence but possess a great
value is known as
(A) Current assets (B) Fixed assets
(C) Intangible assets (D) Investments

GEwIeE qiErEl S Wifds et T8l gl oifed 98d. 4ed ol &,
HEI &

(A) =T aREHafEr (B) rit ufwferai
(C) g uiEm o (D) frawm

112. Net profit is computed in the
(A) P & L Accounts (B) Balance Sheet
(C) Trial Balance (D) Trading Account
I[g 1Y hi TTUHT hl ATt &
(A) & — gl @ | (B) qem WA H
(C) w==gH (D) AR @I §

113. If Trial balance totals do not agree, the difference must be entered in
(A) The Profit and Loss Account  (B) A Nominal Account

(C) The Capital Account (D) A Suspense Account
fe e et &1 dreat A& fireran 2, at 31= shl ufarf st St =fee
(A) T-ZTH @raT (B) ME-Td @rdl

(C) Yt @rar (D) 3gf=1 @rat

114. What do you mean by under conditions of perfect competition in product
market ?
(A) MRP=VMP (B) MRP>VMP (C) VMP>MRP (D) None of these
IeATE SR H ot Sferfirar ht fm feurfaei @ o1 o e § 2

(A) MRP=VMP (B) MRP>VMP (C) VMP>MRP (D) %8 & g T&l

115. The reason for the decline in the child sex ratio in India is
(A) Low fertility rate
(B) Female foeticide
(C) Incentives for boy child from Govt.
(D) None of these
YA H T fofT-31dTd | fiRrae o1 = SR g ?

(A) FE TSR (B) & yurgen
(C) TR Y AShi o U Te@eEd (D) T 9 IS T&
T
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116.

117.

118.

119.

120.

121.

What does Price Flooring mean ?

(A) Shortages (B) Surpluses (C) Equilibrium (D) None of these
IH o T T 3L 7 2

(A) IFdar (B) ARy (C) #qa= (D) 3 € IS &l

The goal of a pure market economy is to meet the desire of
(A) Consumers (B) Companies

(C) Workers (D) The Government
[ TR AATEAT T A Fehwreh! Setd Tl hiT 7 7

(A) SUMETH  (B) HEAH  (C) FHBREH (D) TR

The Law of Demand means

(A) as the quantity demanded rises, the price rises.
(B) as the price rises, the quantity demanded rises.
(C) as the prices rises, the quantity demanded falls.
(D) as supply rises, the demand rises.

A1 61 fm 1 37 8
(A) & & =i h AT Sl 7, HHd sedi © |
(B) & & hiwd et &, WhT 6l AT et 2 | 2

(C) S8 & <hiwd st 7, wit <l wr ik 2 |
(D) & & 3myfd sgdt 8, AiT s § |

Legal service ratio of equal to
faferss Tam 31uTd 35 SR BT 3
(A) CRR/SLR (B) CRR-SLR (C) SLR-CLR (D) CRR+SLR

A direct tax is a tax which is imposed on

(A) corporations only (B) individuals only
(C) individuals and corporations (D) None of these
TAE] S, T T 8 S ST ST 8

(A) heret Frmi o (B) ¥adl safaEl |
(C) AfFaa 3T frmi o (D) 34 8 H1g T

The major source of revenue receipts for the Govt. is not
(A) Tax Revenue (B) Incometax (C) Wealthtax (D) Profits
TN o T Troeel 1w <6l 8 &I 781 &

(A) WG (B) 3R (C) gmfd=s (D) ™
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122. Which cost is incurred even if the company is closed ?

(A) Sunk cost (B) Historical cost
(C) Shut down cost (D) Imputed cost
I H AN Icq BIdl & TAY B SG 8 ?

(A) S8d AN (B) ufcgtiees anTd
(C) I S_A AT (D) 3T AT

123. Toy Manufacturing Companies use what type of costing ?

(A) Multiple costing (B) Process costing
(C) Unit costing (D) Batch costing
Raeftar fFator swrot form gepr Y @mTa fHeror 61 = et 8 2
(A) &g AnTa-feamo (B) fsran amra-faerior
(C) 318 AmTa-Teo (D) WY ATTa-feftor
124. Which of the following is the characteristic of a business ?
(A) Production (B) Exchange of sale
(C) Risk element (D) All of these
=1 5 9 % & SeaE & o g ?

(A) 3T B) fmrafafma (©) Sifemaw (D) I =sft

125. Which of the following is not a Management function ?
(A) Planning (B) Staffing (C) Co-operating (D) Controlling
71 o @ = &1 vy 1 Rl TR R 2
(A) FEs= (B) i (C) F&hr (D) T

126. To have an effective delegation is important to have a responsibility along with
(A) Authority (B) Manpower (C) Incentives (D) Promotion

THTE TS & o oTe 918 Hewaqul & foh Iaierhiea g1 9fey

(A) SITERTUT & A1 (B) HME ¥H % €Y
(C) JIcHTEd o A1y (D) HaYA & A1y
127. Which of the following element is not a part of communication process ?
(A) Decoding (B) Communication
(C) Channel (D) Receiver
e O & 9 91 dd IR T 9T AR 8 2
(A) ferepres (B) HaR (C) =« (D) IhEE
e P N
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128. Individual respondents, focus groups and panel of respondents are
categorised as

(A) Primary data sources (B) Secondary data sources
(C) Itemized data sources (D) Pointed data sources
SfeRTd feraTdt, g g 3R fdanieat o1 39eT I 39 YR fiehd &1 &
(A) Tfies 1ot | (B) feciores a1 |

(C) TCdaR STel |id (D) Tergferd STeT &ia

129. Policy formulation comes under which role ?

(A) Top level Managers (B) Middle level Managers
(C) Operational Management (D) All of these

fifcr fmror form sifirent < 3T=ia 37T & 2

(A) 3N TR Ja-eeh (B) HEI TR a4

(C) F=TeH 94 (D) ¥g @t

130. If we take goods for own use, we should :
(A) Debit Drawings Account : Credit Purchase Account E{éﬁ
(B) Debit Drawings Account : Credit Stock Account
(C) Debit Sales Account : Credit Stock Account
(D) Debit Purchase Account : Credit Drawings Account

Jfe &1 T o ITAN o ToTw o7t Wited & ai g8 T A1y ;
(A) 3ATE0T W1 Sfefe : 3h WAl shige
(B) &0 WA Sfefe : Wik @Il shise
(C) Tershar @Ta sfere : e @ shfse
(D) 3HT WAl Sfeie : TSI Wl shifse

131. The time of the singing of the birds has come. ‘Singing’ in this sentence is
(A) Participle (B) Infinitive  (C) Gerund (D) Adjective

132. It is but right to admit out faults. Which part of speech is but in the sentence ?

(A) Noun (B) Preposition (C) Conjunction (D) Adverb
133. ‘A person who spends his money recklessly 1s’ :
(A) Parsimonious (B) Prodigal (C) Stingy (D) Sparing
134. Spot the correct spelling and mark the choice which gives the correct
spelling :
(A) Litterateur (B) Litteerature (C) Literateur (D) None of these
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135. The synonym of Alleviates is :
(A) To aggravate (B) To dilute (C) Tolessen (D) To worsen

136. The antonym of salient is :
(A) Insignificant (B) Noisy (C) Supernatural (D) Chief

137. ‘When I called his residence this morning, he was still in bed.’
Fill in the blanks with appropriate preposition :
(A) into (B) at (C) on (D) for

138. The idiom ‘French Leave’ means :
(A) A person who does not take leave
(B) A long leave
(C) To take a day off and have fun
(D) To leave without permission

Directions : (Que. 139 to 142) : Read each sentence and choose the part of the
sentence that has an error.

139. (A) Although they are living
(B) 1n Delhi for the last five years
(C) they have not seen the Qutab Minar.
(D) No error

140. (A) United States and its allies were carrying
(B) out their anti-Afghan-activities
(C) in direct violation of the UN charter.
(D) No error

141. (A) They are forbidden
(B) not to enter the sacred place and
(C) disobedience is punished with death.
(D) No error

142. (A) Rahul gave his
(B) B.A. final examination last year
(C) but failed to pass the examination.
(D) No error
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143.

144.

145.

146.

147.

148.

149.

150.
(A) /davbi/ (B) /dhobi/ (C) /dhobi/ (D) /doibi/

Choose the incorrect passivisation :

(A) Sweets are contained in this box.

(B) He has been appreciated.

(C) Temples are thronged by devotees across India.
(D) This novel is being sold like hot cakes.

Choose the incorrect narration :

(A) He said to his mother, “Where did you find my books yesterday ?”
(B) He proposed to his friends that we should enjoy a game of cricket.
(C) His teacher inquired Ravi why he had been absent the previous week.
(D) My mother wished me that I might live long.

Choose the correct sentence :

(A) Gandi was so compassionate that he could not hurt anybody.
(B) Will you lend me any money ?

(C) Good night ! I am pleased to meet you. E%E.'g
(D) He is too obedient not to carry out your orders. e

Which of the following pairs is incorrect :
(A) Hare — Liveret (B) Frog— Cygnet
(C) Cow — Heifer (D) Elephant - Calf

Choose the incorrect sentence where wrong modal is used :

(A) Had he started earlier, he would have caught the train.

(B) The authorities imposed lockdown so that Covid 19 might not transmit
fast.

(C) She needs not join her office during lockdown.

(D) My grandparents would go to temple daily.

The horse and carriage at the door. (Agreement of verb)
(A) is (B) are (C) were (D) have been
‘The fair breeze blew, the white foam flew

The furrow followed free

We were the first

That ever burst

Into that silent sea’

Which figure of speech is used in the above line ?

(A) Simile (B) Metaphor (C) Apostrophe (D) Alliteration

The correct transcription of the word, DHOBI is :
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151. TcEH ITeC BIFCN :
(A) ¥ (B) (C) wigE (D) f&

152. ‘e fo@mr geral e 3 g ¢

(A) JGHGFSHT (B) AT (C) IMHEFET (D) TT% F<hR ]

153. 3 W HATR ?
(A) "I (B) d@gd  (C) faga (D) rgaqEt

c

154. wrec S1fed o fohd TR S ?
(A) 2 B) 3 (C) 4 (D) 5

155. “311@ 7 &IeT T1e hHlel TAlehlidd ol AT 8
(A) 3T TheAdl Bict & (B) ceT <! THTUT ST
(C) SN AT (D) oG Tl TS

156. figR’ 1 wnfeceh AT FTR ?
(A) 09 (B) @ (C) H3R (D) ¥

157. ‘e Ffaim s pATR ?
(A) T (B) =4 (C) dequTet (D) Tafeea

158. ‘O I GARET= 8 —
(A) = (B) hardl (C) famm (D) A

159. ‘foder faem @ g 2

A) B) () © ) D) >)
160. & 50 g1 fean & R R Had @ ?

(A) SR (B) 37wl (C) ot (D) T
T
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161.

162.

163.

164.

16S.

166.

167.

168.

169.

170.

‘S BHT I IIE 8 ?
(A) Tegey (B) fa
T 4y @

(A) ¥ (B) 31®

‘eI U 3UT B
(A) (B) Aty

“UTaeh’ <1 Giu-fa=se @

(A) 91+ T (B) d + 31

T + 3= 6 G gt 8

(A) TR (B) AR

JGIC DR ?

(A) 3sdd (B) 3@

G W BT :

(A) HarEt (B) §fgmfd

‘T’ T IR A RTE ?
(A) Hgd (B) qE=

ST o FET TS 8 ?

(A) TSt (B) HEY

aar 1 fommor 8
(A) qUH (B) ddl

(©)

(©)

©

(©)

©)

©)

©)

©

©

©)

G (D) FFAaTa
L (D) ™
3y (D) #

q+3% (D) W+TH

REEC R (D) TI<K

I (D) 3Jad

et (D) Toarh

qTeTe (D) &4
EACR (D) wH&T
i (D) aaft
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